Standard / Flat Head Countersunk Screw Hole »

TR re S Thrust Type Oil-Free Bushings

CopperAlloy

Code Type Material 1.D. (Tol.){0.D. (Tol.)
OFPO1 Standard ) , R ré
__OFP02 | ThrustType |FlatHead Countersunk Screw Hole SoligIE:btiecn:r:i&?;ﬁzmﬁs%&:gaite) - i
OFP03 Low Head Screw Hole
[®] Features

® Self-lubricating,maintenance-free,with a stable low friction coefficient under heavy load and low-speed movement.
® Excellent wear-resistance,applicable for linear and rotary movement.
® High and low temperature resistance,strong impact resistance.
® Solid lubricant embedded in the flange of the product.
@ The shaft diameter tolerances that match this product: d8 heavy load,e7 light load,g6 high precision(for reference only).
(@ When the product is pressed into the seat hole,put on alittle lubricating oil on the end or inner wall of the seat hole,
and use a hydraulic press or vise to slowly press it into the seat hole.Do not hit the product hard to avoid deformation of the product.

Standard R1.5 SVZ/

OFPO1 N\ RO.4

Detail of A A / R1.5

52
.

t.0.03 J

Flat Head Countersunk Screw Hole
OFP02 d=6~40 d=50
R1.5

Detail of B

i

Low Head Screw Hole d=6~12 d=15~50
OFP03 R1.0~1.5
A R0.4
R1.0~2.0

Detail of C -

TTH g +:+ X5

JiE) R y

! { SN L_1~3 /s

— C

t8.03
e = ©

@ The Tolerance of housing diameter matching with this product: H7 (for reference only). The first perspective

Part Number Standard
Code der - Bl | & e Part Number
6 1938 101214 12 22| @ @ _Code [ 4 | -
8 [.0.040 10 12 14 15 14 |10.034 GEPT ® | @ 12
10 |+0.025 10 12 14 15 20 25 16 | o023 25 e —— = 8 10 12
12 10 12 14 15 20 25 18 30| 3 as shown OFP01—d6—L10
13 10 12 14 15 20 25 19 @ Discountprice
3 |at 12 14 15 20 25 21 o (i A R
Standard| 16 12 14 15 20 25 30 22 | 004t D SRS S
OFP01[ 18 14 15 20 25 30 35 40 24|40 2 Price[100% |3iffG:
20 14 15 20 25 30 35 40 45 28 45
25 |58 14 15 20 25 30 35 40 45 33 50
30 15 20 25 30 35 40 45 50 38 |+0.050] 55 ;
35 15 20 25 30 35 40 45 50 44 |+0034 65
40 |10018 25 30 35 40 45 50 50 70| 7 n
50 25 30 35 40 45 5060 | 62 10520 90| 8
Part Number gBP02 : OERO
L Dms H Mounting Hole t | H Mounting Hole | Applicable Hex Socket t
Code dr7 PCD[ di [ d2 [ h [Countersunk Screw PCD| d1 [ d2 [ h | LowHeadCapScrew
6 [:39%3] 10 12 15 10 [33%[ 25[ 15 25 [ 17
+0.028] 10 12 15 20 12 28] 18 27 [ 19| 6 |3.5|2.2| M3x10(2pcs)| 4
FlatHead |10 |01 12 15 20 25 14| 1900 30[ 20 29 | 21
Countersunk |12 12 15 20 25 18 40| 28 /8.5|3.52.5 M3 3[36[26 M4x12(2 pcs)
ScrewHole |_15_| +0.034 12 15 20 25 21 3929, l, 514 s
OFP02 | 16 |*0016 12 15 20 25 30 35 22 |i0021| 50 35 40 30| "™ M4x12(4 pcs)
Lo Hoad 18 15 20 25 30 35 24 | +0-008 42| 32
ow Head| 20 15 20 25 30 35 40 28 49 [ 38
Screw | 25 | 10041 15 20 25 30 35 40 33 55(40 | 0l g a5l ms |5 54143 9 |5:5)3.7| M5x16(4 pcs) | 6
Hole 30 20 25 30 35 40 45 | 38 |+0.025] 60| 45 : 63 | 50
OFP03 35 20 25 30 35 40 45 | 44 | 0009 70| 52 69 56| |06]42|M6x20(4pcs)| 8
~an |+0.050
T 35 o055 4045 [ ep [EMITO0 781" 7 145 MO oteatrel™ |° |52|M8x2S(4pcs) | 10

(@) Screws need to be purchased separately.



	8: 97

